Unit 3 Resistors in Parallel

When resistors are connected in parallel, the
same voltage difference or potential differ-
ence is present across all of the resistors.

but I =I1+ I+ 13+ ---

1 1 1 1
Therefore — = 4+ 4+ — 4 ...
Rp Ri1 Ry R3

Figure 3.1:—
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Example 1

Calculate the equivalent resistance for the
parallel resistor circuit shown in the Figure
3.2.

AAA—

51kQ

ANN——

4.7kQ

ANA—

3.9kQ

Figure 3.2:—

1 1 1 1

Ry — 5160 T 47kQ T 3.0K0

4.89 x 10741
2046
2.046k

Therefore Ry
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Example 2

In the circuit shown in Figure 3.3, if the cur-
rent in the 820¢2 resistor is measured to be
2.5mA, calculate the battery voltage and also
calculate the total current flowing through
the battery. Calculate the current in the
3.9kS2 resistor.

—_ B $ 820Q $ 3.9kQ

Figure 3.3:—
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B $ 820Q $ 3.9kQ

VBattery = 25’)’)’&4)(8209
— 25x 103 x 820V
.= 2.105V
E— +
Ry 820 = 3900
— 1.48 x 1073
Therefore R, = 67752
2.05V
Hence I p—
Total 6770
— 3.03x 1034
= 3.03mA
5.05V
and - Isoko = 397030
— 5.26 x 107%4

0.526mA or 526uA




